
Y5 – Autumn – Block 1 – Step 11 – Negative numbers Answers

Question Answer

1
a) –4, –2, 3
b) –20, –15, –5, 10, 20, 25

2
a) 1
b) –5

3

a) The difference between 3 and 5 is 2
b) The difference between –3 and 5 is 8
c) The difference between –1 and 1 is 2
d) The difference between –5 and 5 is 10

4
a) The temperature on Monday night was –3°C.
b) The temperature rose by 16°C from Monday night to Tuesday night.

5

a) July
b) January
c) 40°C
d) 25°C
e) 33°C
f) 7
g) January, February, March, April, October, November, December

6 Teddy and Rosie are 17 m apart.

7 a) –4
b) The number halfway between C and D is 3


